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General Instructions:

1 Al questions are compulsory,
£ )

The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-
questions of 2 marks each;
and Section-D

B comprises of 6
Section-C comprises of 10 questions of 3 marks each
comprises of 11 questions of 4 marks each,

There is no overall choice in this question paper.

4. Use of calculator is not permitted,

3

@UZ-3T / SECTION-A
W HEE 1 04 5 vl w1 3T

Question numbers 1 to 4 carry one mark cach

1 . :
AABC 31 ABDE 2 w5aTg fiye 70 vam & 5 BD = %nc &1 AABC a91 ABDE ¥ St oy 1
| IR 9 i)
AABC and ABDE are two equilateral triangles such that BD = %BC. Find the rativ ot areas of
of 10

http://jsuniltutorial.weebly.com/



~=Question numbe

e20f10
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AABC and ABDIL,

TE AABC YW, B A & uadl § cos

In a triangle ABC, write cos B

A cos2A = sin(A ~ 15), @ A T 51 79 #ifan

If cos2A = sin(A - 15), find A.

ﬁmﬁfma&mj%mﬁﬁmﬁaﬁz%rﬁmmmmﬁm:

B+C

fefimu |

+
— interms of angle A.
-

a1 Hea c’n—ﬂ 10-20 | 20~30 |

30-40

STEHH 16 ' 18 10

Find the sum of upper limit and lowe

|
[ Frequency ’ 16 18 10

—_———

YA U5 H1p8 THF & 2 H5F 7

ST {6 397 W rafid wem &

Show that 3.7 is an irrational number

15

40 - 50

50-60 | 60-70

15

24 20

rs 5 to 10 carry two marks each,

30-40 | 40-5

60-70

15

aug-q/ SECTION-B

0150-60
24

ith the digit 0 for any natural number p,

20

m#ﬁn%muﬂwmmmﬂm%mﬁmwmm%?

Check whether 121 can end w
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r limit of the modal class of the t’o!ldwing data :
[ Class interval J 0-10]10-20 ' 20-30 ]

t"ln%kga. f';:



R, State which of the two triangles given in the figure are similar.
~ ~critenion uscd
A ;
™. n
%
tom/ N\ y o ~\_\ 12em /_." \l'd.h.
Jfll kL “u, ,"'r i
. o o
L icm C E 45¢n F.a ==  §
9 A fawifan 2
Fcol 31°, tan 15°, cot 27°. tan 73° . cot 63°, cot 59°
Evaluate :
" 3cot31°. tan 15°. cot 27°, tan 75°, cot 63°. cot 59°
o FHT faenfefal & fafefpr o= ——" ) _ . '
. ﬁém1ie:l%ﬁf is a2 cumulative frequency distribution. Corresponding to it, make an ordinary
frequency distribution,
[x cf
Below 600 60 ]
Below 500 58
Below 400 P!
Below 300 35
Below 200 22
J BC!’UH'WU IO @UE-H / SECTION-C
e 5 e i i
. T W& 11 8 20 3 WEAF F 3 3(F E | .
Question numbers 11 to 20 carry three marks each.
11 @ E w600 ferr she 840 feret S &1 38 adA w1 aifvsan ftn A b, T 3
e3oflo
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Tos W oare
Find a quadratic polynomial, the sum and product of whose zeroes ar

respey tively

Also state the similarty
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Two tankers contam 620 litres and 840 Tittes of diese) respectively, Find the M nimgy,
capaaity of a contaimer which can measure the diesel of both the tankers in exact numbee, of
himes,

12 vy ¥ e va el

i
1 4 — »= f
y

It —— =35

_ll'

Solve forxyand y:

13 afe TEIT 232~ 55— 2k + 1) F uF

t AR G F G, DR F W e am ke I 3

If ene zero of the polynomial 2x2—5x~(2k -+ 1) is twice the other, find both

polynomial and the value of k. Pt

14 Ty & o w i
2t+y=6
2x-y+2=0
Solve forxand y :
2x+y=6

2r—y+2=0

ige 4 of 10
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i ree s A
i the diagonals ol a quadnilateral divide each other i.""i"‘l“"""""il-- Prowve that d

7 ]
frapeezinn

uF FABIT A PQR , PR B %1 0] #1372 21 o 3 om 4e 4 em #1 B W e fag, x
§9 WS E fh PX=12cm 9901 XR=13 cm #1 ZXPR &1 519 37 =itfm

In aright angled APQR, IR is the hypotenuse and other two sides are of length 3 cm and 4 cm.
X is a point outside the triangle such that PX=12 cm and XR=13 cm. Find the measure o
£XPR.

17 qﬁsinﬂ=-?—'(’?f,?ﬂ cosec 0 — cot 0 1 1 e

of
i
ll-
16
P
If
se 50f 10

3 2coth

’ B cosec § — cotB
sin 0 = —, evaluate
2 2 cot B
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i
(cote "I."l"'ﬂ!‘i“]: e .
14 s

Prove that .

(Ot — s ]'1" - 1_._2“_"
14 ol

19 w&ﬁmmmmt.nra&_ﬁtmlmmmﬁm; 3
EL R = = ' ]
e 50-60 60-70 70-80 80-90 | 90-100
e M " ey B
AT 8 6 12 11 [
In the tollowing distnibution, 1f mean is 78, find the missing lmiucm_‘}' (x):
LCIA 55 50-60) 60-70) 70-80 £0-00 90-100
; LFm]ueuq' 8 6 12 11 X
20 =1 araren 527 % fore, wF A w8 & v @A aen . 3
] ar 1520 [20-25 | 2530 [3035 | 3540 I 10-45
Lw‘zmm 13 18 88 05 |5 |5 i
Draw a “less than type’ ugivellur the following frequency distribution |
[ Class 15-20 |20-25 [25-30 |30-35 | 3540 | 4045 |
: ‘ﬂi‘quunc}' 13 [ 18 [ 31 25 15 5

TIUZ-T / SECTION-D
Y UEAI21 W31 0 IGF & 4 3TF T

Question numbers 21 to 31 carry four marks each.

21 FiFeTs fawram uanfien grr 256 31 36 @1 HCEF 1@ H1fs17 1 399 LOM o 3m wifom ai s 4

ge6of 10
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atom
HOEX LCM = 21 gimmaii o4 HUER TS

Find the HCF o o5, and 36 ugi,
Z B

verify that HOE « LCM - Eucligrg Division

= - I
[ “.“Il". l L& 11".' t'\'l'l\ n“"‘l]".l
s

Algorithm. Also lind their LCM and

-4 Tl 3R 3 w5 w5y ey . i

I3 22100 & i 5 T st o i o 0 : fi
- - 2 JT’&?I?SD&-ITFF.WWI?W 4
4 chairs and 3 tables cost T 2100

and 5¢ch

ihiad airs ; - g i
chair and one tabhle separately irs and 2 tables cost T 1750, Find the cost of one

ERL G a Sl = - i
3T TEIE 2+ 22 + 827+ 12v 4 18 1 wat e

. X245 W AT PR gy 4 q B A g F 8
Wmmm! Tprtqe dp q

- ’: .% .
If Lhrf polynomial (x#+2x3+8x24+12:+18) is divided by another polynomial (x2+5), the
remainder comes out to be (pu + q). find the values of p and q.

=4 3 300 km F1 g0 st qmamm | 501 w1 fea e 35 $59 50 wmd g an o 4
QﬁaﬂﬂmﬁqﬁﬁlﬁﬁﬂbﬂkmWﬁ‘é’fﬂﬂﬂ*ﬂﬁﬂﬂﬂm}mm]%mﬁ“ﬂ%mﬁi hs
g7 100 ke TSN 8 A4 9 @7 gA1 Fa F9, @ 3 10 fere sifim e # ) e T am 1w
e~ 316 A Ffa w7 A A wm e ad e

tidhi decided to use public transport to cover a distance of 300 km. She travels this distance

artly by train and partly by bus. She takes 4 hours if she lr'rw_eks 00 km by train and
If she travels 100 km by train and the remaining by bus, she takes 10

smaining by bus. : oo
d the speed of train and bus separately. Why does Ridhi decide to opt for

inutes more, Fin

raloe Jogsed -
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AABC &1 spanaiy

i AB 3 AC W wm: fasg p Q¥ Az AP =2 cm, PB =

dcm, AQ) =
=6bcm § i, farg ) Q ;
| & Fifau fR pe -3 Q ® A% ar (AAPQ) 317 ar (AABC) %1 3T ma .
‘T and Q mfm“

PB=4 cm. AQ=5 e e FAC respective ly of a triangle ABC. |4 AD =2

area of AABC. Oem, prove that BC =3 PQ

e paints on the sides AB any

m

and find the ratio of area of 5*“’() \
L]

26

AABCH nfa .,
<ADE = . ¢, il firz FIIT fir A ADE ~
y AABC £

=472
Zem 3 BC =gy cm &, W pE I Fifam
|

~ AABC
72 tm, Bf -
‘ 2¢cm and BC‘.—“-B*I cm, th
- then fing DE
7
0 =
3-1T{cot(A-—BJ=\/§ b3 a’rrrmﬁ?m%m
tnflU
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(i)

(1) cotA couh

[I"'l l‘l'l“-
'
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sinA sinit

vt
col A cot!h +

Mecos{A+ B)=0and col{A—B) = J3, then pvaluate

{1} COYA. cosB — sinA. 5inB

fas #ifs .

SiNA + cosA

colll - catA
ColAL cothh ; r_l

SinLy = cos.5,

s — cosA
Prove that :

SinA + cosA
sinA — cosA

fag Fifau
PROVE

SinA 4 cossy

SiNLY — Cos.%

sms + cosn

2
1- 2{051}".

2
= _—_._r
1 — 2cns™A

sec?0+ cosect 0 =(tanf -+ coth)

@mﬁ?ﬁﬂﬂt&ﬁaﬁfﬂwﬁﬂmnhﬁ&fmﬁﬁamt

eutqr A €

i W= (3 H) F adara 523 "

wd (TH)

500-700

700-900

900-1100

1100-1300 \1300-1500 \

’qﬁmﬁ&ﬂﬂ"@ﬂ 6

|10

|

-

1 qrlied @4 T HIeg |
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. i I | g e, +
the tollowing ey distribuiog - Ves om frodts and vepetabiles (in PUPCEs) 18 piven in

[ ————

e —

Expenditare |
B00)- 5 . .
(in ) M0-700 | 700-000 | 9o0-1100 | 1100-1300 | 1300-1500

— T
Number of

tamilies

3 N
Fin > oy o witure,
d the mean weel |y cxpenditure

3 il
1 it AR o2 ¢ T SR e—

> - !
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-

- e

25.35 P mee] \
!

35-45 1)

45-55 33

55-65 17

65 - 75 1 !

75-85 1

Find
d the mode of f1e following frequency distribution

Class inferval f

35-45 31
45- 55 33
55- 65 17
65-75 11
75-85 1

-0fo0000-
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